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Worksheet 6

Solving Word Problems

Solve.

@) cook uses 23 Lof water to make some soup for
lunch. He uses 9 more litres of water to make soup
for supper.

(@ How much water does the cook use to make
soup for supper?

(b)  How much water does the cook use altogether
to make soup during the day?

lunch

supper
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eCentmnar Ahas 45 Lof water.
Container B has 27 | less water than container A

(@ How much water is there in container B?
(b)  How much water is there in the two containers altogether?




